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N T KEBKEHK RSN ESER
% # s - BRHE s E i & & W E

EENER 8, 305, 099
ERE 8,305,099 x 75.7% — 2,058 6, 284, 901
AEREER 8,305,099 + 6,284,901 14,590, 000
E R 2,904, 358
EEAGE 2,904, 358
Z Ot R A 2,904,358 x 53.85% ( 35% + (1 — 35%) ) 1,563,996
%R 2,904,358 + 1,563,996 4,468,354
—REEEZ 4,468,354 x 53.85% ( 35% = (1 — 35%) ) — 4, 562 2,401, 646
AEREE 4,468,354 + 2,401, 646 6, 870, 000
8 E B 14,590, 000 + 6, 870, 000 21, 460, 000
HEGEHELE 21,460,000 x 10.00% 2,146, 000
AEEBR 21,460,000 + 2,146, 000 23, 606, 000




BERNRE KEBKEREENEELH

& [ & - RTE B #H = B € # W E
[CEE 11, 209, 457
FEES 11, 209, 457
FEiERA=E 11, 209, 457
FERAE 11,001, 157
BWERERE - BE 834, 694
| BBREHERE - BE 1.00 492, 160 492,160
=
2 BSRERRE 13.00 11, 660 151, 580
A
3 HEBMENRE 13.00 12,958 168, 454
A
4 HFBRERER 1.00 22, 500 22, 500
=
BEEE GREAS) 527, 634
5 BIE %K 1.00 381,527 381,527
=
6 HEAERE 2FELY) 1.00 146, 107 146, 107
=
FEERAE 1,373, 362
TREETXE 1.00 689, 984 689, 984
=
8 TILFE—LAIFE 0.92 742, 803 683, 378
km2
B (FEAE) 1,674, 649
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KEBKEHBRREHNEFES

% TR R - BT E B 2 {if & il B =

9 |MEEEMK 1.00 1,674, 649 1,674, 649
=

BREERE (FRED) 314,261

10 FE % 1.00 133, 800 133, 800
=

11 BMIER QEERY) 1.00 180, 461 180, 461
=

BREE 2,996, 051

12 BETX b+ 1.00 1,082,171 1,082,171
=

13 EiRFE 39. 36 48, 625 1,913, 880
km

BR (BKEE) 3,137, 306

14 EHEEHR 39. 36 79,708 3,137, 306
km

& - |E 143, 200

15 EHTiHE 1.00 86, 750 86, 750
[

16 miRHE 1.00 56, 450 56, 450
[

EEEE 208, 300

BIERBHREE 48, 300

17 EIERERE 1.00 48, 300 48, 300
=

[2£:3 160, 000
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KEBKSHRREIEERH

&5 1
&% BRBRMBRRE - BE =10
4 b R - KT & By 2 B {f %5 W = 5 &
REE SA4 N2 2L
=] 2.00 3, 584. 00 7,168 2.00H / 8H
A= FRP D 70PSZE!
B 2.00 78, 329. 00 156, 658 8H
BIEHED
A 2.00 52, 300. 00 104, 600
B2 H A
A 2.00 41,100. 00 82,200
BIEBF
A 2.00 34, 900. 00 69, 800
BIEWENE
A 2.00 28, 700. 00 57,400
MM A
% 3.00 477, 826. 00 14,334
& R fEEEEH - 1.00K 492, 160. 00 492,160
&5 .2
2 BABRERRY 1AHY
4 b R - BKkTiE By 2 B {f £ =B fils
RBEHE 4 by 2L
B 0.30 3,584.00 1,075 2.00H / 8H
BIEBF
A 0.30 34, 900. 00 10, 470
A H
% 1.00 11, 545.00 115
& B YE¥8eH - 1.008 11, 660. 00 11, 660
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&5 :3
& MARYERERE 1083 Y
2 L R - KT By H = B & %8 W = 5 &
B2 AR
A 1.00 52, 300. 00 52,300
B E H A
A 1.00 41, 100. 00 41,100
BIEBF
A 1.00 34, 900. 00 34,900
MM
% 1.00 128, 300. 00 1,283
& R YE%8EH : 10.00H 12, 958.00 129, 583
&5 4
2% BRBREEEN 13ty
2 L R - KT By H = B & %8 W = 5 &
B R R
B 15.00 1, 500. 00 22,500
& it YEZEEH - 1. 00K 22, 500. 00 22,500
&8 :5
2 AE%RE 1KLY
% E A - kTiE B H = B & el = i &
B2 ETHE
A 2.00 60, 600. 00 121, 200
B2 AR
A 3.00 52, 300. 00 156, 900
B E H A
A 2.00 41,100. 00 82,200
BIEBF
A 0.50 34, 900. 00 17, 450
MM £HD%
% 1.00 3717, 7150. 00 3,771
& R fEEfEH - 1.00K 381, 527. 00 381, 527
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KEBKSHRREIEERH

&5 :6
B HEAER QFEERAY) IEEP,
4 b R - K& BAGL H = i £ IS 5 &
BIEWENE
A 2.00 28, 700. 00 57, 400
FSwy 2t&
B 3.00 29,087. 00 87,261 4.70H / 8H
A H £ERD%
% 1.00 144, 661. 00 1, 446
& B YEZEEH - 1. 00K 146, 107. 00 146, 107
&5 .1
B BETR K 1KLY
% E R - BRTE BARL #H =2 i %8 = i &
REE SA4 kN2 2L
B 1.00 3,584.00 3,584 2.00H / 8H
B2 B
A 1.00 60, 600. 00 60, 600
BIEHED
A 1.50 52, 300. 00 78, 450
B2 H A
A 1.50 41, 100. 00 61, 650
BIEBF
A 1.00 34, 900. 00 34,900
A= FRP D 70PSZE!
=] 1.00 78, 329. 00 78, 329 8H
GNSSRI L 2k & DGNSS
B 1.00 25,740. 00 25,740
TILFE—LBEH R 36 ~455kHz
=] 1.00 339, 900. 00 339, 900
MM EXZDY)
% 1.00 683, 153. 00 6, 831
& R fEEEEH - 1.00K 689, 984. 00 689, 984
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EES:8
BF: RILFE— LR 1B&Y (0.85km?2)
4 b LI 2 NS Bf 2 B %5 = 5 &
XBE S4 Ry 2L
B 1.00 3,584. 00 3,584 2.00H / 8H
IS M FRP D 70PSE!
5] 1.00 78, 329. 00 78,329 8H
BEFEHEm
A 1.00 60, 600. 00 60, 600
BIEHED
A 1.00 52, 300. 00 52, 300
B = B Em A
A 1.00 41, 100. 00 41,100
BEBF
A 0.50 34, 900. 00 17, 450
GNSSEIMf & DGNSS
B 1.00 25, 740. 00 25, 740
TILF E—LEENFEHE 36~455kHz
5] 1.00 339, 900. 00 339, 900
M &Y
% 2.00 619, 003. 00 12, 380
A& i %85 :0.85km2 742, 803. 00 631, 383
&S :9
B MEEER 1LY
4 b3 R - BRTR B 2 B o) = 5 &
BEFEHEm
A 4.60 60, 600. 00 278, 760
BIEHED
A 14.70 52, 300. 00 768, 810
B = B Em A
A 13.20 41,100. 00 542,520
HEm (C)
A 0.50 40, 300. 00 20, 150
M &Y
% 4.00 1,610, 240. 00 64, 409
A& i %8 - 1.00= 1, 674, 649. 00 1,674, 649
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H5:10
2 BEERE 1Y
% L A - kTiE By = B {f el = fi
F AR GRED
A 2.00 66, 900. 00 133, 800
& H YE¥REH : 1.00 133, 800. 00 133, 800
E#E 1
B BAMIER FEERAY) 1XzyY
% L R - kTiE By = B {f el = fi
RIEWHBE
A 2.00 28, 700. 00 57,400
cSwvo 2t%&
=] 4.50 26, 950. 00 121,275/2.00H / 8H
MM £HRD%
% 1.00 178, 675. 00 1,786
= g YEEBEH : 1.00 180, 461. 00 180, 461
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HE5:12
2 BETR b 1Y
2 L I - BRTiE B = B i %8 W = 5 &
REE SA4 kN 2L
H 2.00 3, 584.00 7,168/2.00H / 8H
JL—fFbkSvY 2t1E 2tR
=] 2.00 32, 296. 00 64,592|2.00H / 8H
F AR GRED
A 2.00 66, 900. 00 133, 800
HEm (A)
A 2.00 59, 600. 00 119, 200
A& (B)
A 2.00 48, 500. 00 97, 000
BIEHED
A 2.00 52, 300. 00 104, 600
B = AT
A 2.00 41, 100. 00 82,200
AEBF
A 2.00 34, 900. 00 69, 800
GNSSIfL 25 & DGNSS
H 1.00 25, 740. 00 25, 740
Hh B IR 9002 2 —JL
=] 1.00 101, 805. 00 101, 805
TR IINERES
H 1.00 9, 570. 00 9,570
B8 RIER 1AM 200kHz
=] 1.00 10, 741. 50 10, 741
RERE 10KVA
H 1.00 3, 300. 00 3, 300
AE M FRP D 180PSE!
=] 2.00 115, 718. 00 231,436 /8H
MR 2&0Y%
% 2.00 1,060, 952. 00 21,219
& B YE¥REH : 1.00 1,082, 171.00 1,082,171
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S 13
2 BREE 1TABHY (10.5km)
2 L R - KT By = B i %8 W = 5 &=
RBEHE 4 by 2L
=] 1.00 3,584.00 3,584 2.00H / 8H
F{EHAm (B&ED
A 1.00 66, 900. 00 66, 900
B2 AR
A 1.00 52, 300. 00 52, 300
pil=g 10k
A 1.00 41,100. 00 41,100
BIEBF
A 2.00 34, 900. 00 69, 800
GNSSRI L 2k & DGNSS
B 1.00 25, 740. 00 25,740
hEIRE 9002 1 —JL
=] 1.00 101, 805. 00 101, 805
T T LIRSS
B 1.00 9, 570. 00 9,570
BEREE 151 200kHz
=] 1.00 10, 741.50 10, 741
REYRE 10KVA
B 1.00 3,300. 00 3,300
BIEM FRP D 180PS%!
=] 1.00 115, 718. 00 115,718 8H
MM £HD%
% 2.00 500, 558. 00 10,011
& R YEZX8BEH : 10.50k m 48, 625. 00 510, 569
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H5: 14
& - EHMEN TkmZ Y (1km)
2 Eu A - kTiE By = fili el i &
F AR GRED
A 0.10 66, 900. 00 6, 690
AR (A)
A 0.22 59, 600. 00 13,112
HEm (B)
A 0.45 48, 500. 00 21, 825
AR (C)
A 0.17 40, 300. 00 6, 851
Hiftg
A 0.17 36, 100. 00 6,137
BIEHED
A 0.20 52, 300. 00 10, 460
B = AT
A 0.35 41,100. 00 14, 385
MM REXBANEEFTDY
% 1.00 24, 845.00 248
= g YEXBEHN  1.00km 79, 708. 00 79,708
HE5:15
& BRIHE 1EHY
4 g R - KT By 2 il £ 5 &=
B2 EEBED
A 1.00 60, 600. 00 60, 600
BIEHED
A 0.50 52, 300. 00 26,150
= &t YEZ8EH : 1.00[= 86, 750. 00 86, 750
H5 :16
2 RE®RE HEEY
4 g R - KT By 2 il £ 5 &=
B2 EEBED
A 0.50 60, 600. 00 30, 300
BIEHED
A 0.50 52, 300. 00 26,150
= &t YEZ8EH : 1.00[= 56, 450. 00 56, 450
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H5 17
BF: EIERRERE XY
4 g R - KT By 8 = B i & £ W = 5 &=
EZRYUTRE
IiE 1.00 48, 300. 00 48, 300
& H YE¥REH : 1.00 48, 300. 00 48,300
H5:18
& EBHRR 1X5Y
2 Eu R - kTiE By B =2 ] & el = i &
(B RRE
= 1.00 160, 000. 00 160, 000
= &t YEEBEH : 1.00 160, 000. 00 160, 000
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Hf&RES 1
BERAF : ZBHE T4 b2 2L 1HZY 2.00H / 8H
£ 5 R - BART3E Bf £ i ] i3 w5 &
"y
L 7.00 161. 50 1,130
BE (SA VAV YUIVSY -2 REEESE HRE2.0L
ERERED]) B P 2.00 287.00 574 e N |
BH (SAAVIHYIUIVDY - Z REEESSE HRE2.0
HEREN]) B 1.19 1, 580. 00 1,880 #HAR
& Hi 3,584
HERES 2
Biffi&k4& %5 : RIEM FRP D 70PSE! 1B4Y 8H
£ 5 R - BRT3E Bf = i %5 i3 w5 &
A
L 44.00 95. 00 4,180
TR
A 1.20 30, 700. 00 36,840 B=1.20
#EH (@M [FRPR]) D 70PSE! 3.0GT
B 1.00 3,210.00 3,210 EERH
B (EMFRPE]) D 70PSE! 3.0GT
B 1.65 3, 360. 00 5,544 a=1. 65 #HAR
RSEEEE
% 26.15 49,774.00 13,015
—fREEE
% 24.75 62, 789. 00 15, 540
& Hi 78, 329




=R E KEBKEHMEE LM EELR

Bifi&xES 3
BEREF: bSvo 2tTE 1B%Y 4.70H / 8H
£ L R - BKTE By H = B {f il £ W = w5 &
23
L 18. 00 140. 00 2,520
BEF (—H%)
A 1.00 22,200.00 22,200
BHE (v o [ERE]) 2t1E
il 4.70 273.00 1,283 EERFfE
B (Foy o [EER]D 2t%E
=] 1.13 2,730.00 3,084 #RA
& it 29,087
Bfi&RES 4
BMERLI: FSvy 2tFE 1H%Y 2.00H / 8H
£ L R - BKTE By H = B {f il £ W = w5 &
23
L 8.00 140. 00 1,120
BEF (—H%)
A 1.00 22,200.00 22,200
BHE (v o [ERE]) 2t1E
il 2.00 273.00 546 EERFfE
B (Foy I [EER]D 2t%E
=] 1.13 2,730.00 3,084 #RA
& it 26, 950
Bf&xES : 5
BERAF : JL—2F b5y o 2t5E 2tR 1H%Y 2.00H / 8H
£ L R - BKTE By H = B {f il £ W = w5 &
23
L 8.00 140. 00 1,120
EESF (3%
A 1.00 24, 700. 00 24,700
BHE (v o[V L—VEERD RN—X +SvY2tHE mHEEN2.0t
s Fl 2.00 403. 00 806 EERFfE
BHE (S o[V L—CEEMD RNR—X+SvH2tiE HEEH2. 0t
B 1.23 4,610.00 5,670 #RA
& £t 32,296
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KEBKSHRREIEERH

HEXRES : 6
H{B&XRAH  HIEM FRP D 180PSE! 8H
£ i R - AR B £ B ) B B =
EihA
L 116. 00 95. 00 11, 020
=iERMmE
A 1.20 30, 700. 00 36,840 B=1.20
B (@M FRPEL]) D 180PSZE! 10.0GT
=] 1.00 9, 420. 00 9,420 k=]
B (@M FRPEL]) D 180PSE! 10.0GT
=] 1.65 9, 850. 00 16,252 o=1.65 #HAE
HiZEHE
% 26.15 73,532. 00 19, 228
—fREEE
% 24.75 92, 760. 00 22,958
& & 115,718




